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QU @ PAPER SPECIFIC INSTRUCTIONS
Please read each of Nt owing instructions carefully before attempting questions.
There are TWENTY questions printed both in HINDI and in ENGLISH. |
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. No marks will be given for answers written in medium other than the authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question
Nos. 11 to 20 should be in 250 words.

Word limit in questions, wherever specified, should be adhered to.
Any page or portion of the page left blank in the Question-cum-Answer Booklet must be

clearly struck off. . :
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arca e wafy F A aRa § wa w, e o & | e s we § 7
Hgfy WA & FF FM ¥ RS SuweH € ¢ (SR 150 Y= H )

Among several factors for India’s potential growth, savings rate is the most effective one. Do
you agree ? What are the other factors available for growth potential ? (Answer in 150 words)
10

sr-wer Ferafdt % e @ v &a ¥ fafmto dee 6 frhern & wRw SamEg | gEt-vaeE
frafal f e sfie sm-wae Fafd & fw, ol @ gEE | (SR 150 &l # 3)

Account for the failure of manufacturing sector in achieving the goal of labour-intensive

exports. Suggest measures for more labour-intensive rather than capital-intensive exports.
(Answer in 150 words) 10

ardifrer-Freft S (i) e 3 sitfiT dgh SUSHAT F WO W WRd { e &
frema &1 wham AT | 5@ dEy T Wi & WA S| fai € 7 (STR 150 w=al

4 3) < 5
Examine the development of Airports in India ﬂ“ﬁi t ventures under Public-Private
&:e

Partnership (PPP) model. What are the challe by the authorities in this regard ?
(Answer in 150 words) 10

mﬁm%mﬁﬁmﬁm@mﬁﬁmwmmamﬁm

I 3R @RI TRE # TR MR H % ? (ST 150 =T A ©)

Explain various types of rey took place in Agriculture after independence in India.
How these revolutions hayc%wéfpdl in poverty alleviation and food security in India ? (Answer
in 150 words) : 10

WWW%@%@WW%WW%?WW%@W
framl B amhE-ahiE R w o Sen § fee TR weEE R 7 (SRR 150 =l
F %) | ‘

What are 'the reasons for poor acceptance of cost-effective small processing unit ? How the

food processing unit will be helpful to uplift the socio-economic status of poor farmers ?
(Answer in 150 words) ' 10

i, Aaifivn, afe SR @ TR o af ghege fafee cam ¥ TR S
¥ frg wra # @ it fafren et S 1 @ R | g8 # avir A R wn wfie
mwaﬁgﬁ(mdqﬂl(i?ﬁgﬂﬂlﬁdﬁavwm%?(G"ﬁ? 150 Yr=al ¥ ©)

Stem cell therapy is gaining popularity in India to treat a wide variety of medical conditions
including Leukaemia, Thalassemia, damaged cornea and severe bums. Describe briefly what
stem cell therapy is and what advantages it has over other treatments ? (Answer in 150 words)
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13.

IRA A =M 9 Wa wef fhaml afea Ama-ea smRer feml & sanamor a%ean wmw
H 2, Afe awa-afea siafer fasmt d Ay 1 wew =& fon ® | ama-wfea siafea fam
e A B OWRIRGRE 9 guETete dfcd d &HREe 94T © 7 HATAMEATCHS  UXIel
FT | (ST 150 =t | T)

India has achieved remarkable successes in unmanned space missions including the

Chandrayaan and Mars Orbitter Mission, but has not ventured into manned space missions.
What are the main obstacles to launching a manned space mission, both in terms of technology
and logistics ? Examine critically. (Answer in 150 words) 10

uE WEd A6 Ugd i G TGl & W AfGAl B SIGAT Toh Hehedqwl oY, U 3 T oW H Th
qrEdfaedT J9d] ST @ 8 | Afcdl & Aed @ B 9 |l R TE 9hie0 W 3He GHIfEd
THE TR == T | (STR 150 v=er | <€)

Not many years ago, river linking was a concept but it is becoming a reality in the country.
Discuss the advantages of river linking and its possible impact on the environment. (Answer in
150 words) 10

TSR ATHAYT & TNTR @oki ol T 76 U g g <l fae=mr hifsg
(ITR 150 v=ar # ) :

Discuss the potential threats of Cyber attack®antthe” security framework to prevent it.
(Answer in 150 words) 10

ARA & STR-YHT YN Sgd e fta ® 1 W wew ¥ v fge @
af%ﬁﬁﬁm%g@wﬁm%ﬁv&fﬁﬁq (IR 150 v=di # )

The North-East region of India hagbeen ififested with insurgency for a very long time. Analyze
the major reasons for the survivM—ned insurgency in this region.(Answer in 150 words)

. 10
2017-18 & TEIT % TR H ¥ UF I VR & TUARA HAT, FSEA ST
3R ARE F w= | TH Jegd &I UTH A & folu &oie 2017-18 § WRaR gRT U&dTfed

| (STR 250 =31 ¥ ©) |
One of the intende®objectives of the Union Budget 2017-18 is to ‘transform, energise and clean

India’. Analyse the measures proposed in the Budget 2017-18 to achieve the objective. (Answer
in 250 words) L5

"gYRITR sty § wehd-we-Sedtg (SLELHY.) & wmy wafg A sienfie w@gfg R fregd
TE § 1" @R gy | sRifEm-Aifa # e # ey wu ulteds s wafg @ A wem
A gl 9% qgF § 7 (ST 250 Y=l ¥ )

“Industrial growth rate has lagged-behind in the overall growth of Gross-Domestic-Product

(GDP) in the post-reform period.” Give reasons. How far the recent changes in Industrial-Policy
are capable of increasing the industrial growth rate ? (Answer in 250 words) 7+8=15

‘Rl Tl ¥ we sfiEe @ ¥ 7 R T YR & dly Yo o 3EWE SRel TeT © 7

frsomm iy wa amasht dafy ¥ Sum@ gEEd | (IR 250 el A Q)

What are the salient features of ‘inclusive growth” ? Has India been experiencing such a-growth
process ? Analyse and suggest measures for inclusive growth. (Answer in 250 words) 15
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TE G # a3k W R PR o oow % Ry wr-wn wer e ¥ 7 9§ e B e %
e #, wer fafaeiemm frm weR weemR &1aT ® 7 (SR 250 =il ¥ ©)

What are the major reasons for declining rice and wheat yield in the cropping system ? How
crop diversification is helpful to stabilise thc yield of the crops in the system ? (Answer in
250 words) : 15

weraferar g ufaed, W%wﬁ?mﬁmﬁiﬁf@ﬁﬁﬁawmn%m
8 7 @9 3R €W FEhl & fog, wEe ST, SHaH wwde o SR WRI WRER
e § 7 (IR 250 =i § §) ' - ,

How do subsidies affect ‘the cropping paﬁcm, crop diversity and economy of farmers ? What

is the significance of crop insurance, minimum support price and food processing for small and
marginal farmers ? (Answer in 250 words) 15

WA # AR R i senfeRt bt wgfy ek foeha o feeeor wega e | wRa #

dq o RAFeX HEhH w1 T AW B 7 (STR 250 =T A Q)
Give an account of the growth and development of nuclear ﬁand technology in India.

What is the advantage of fast breeder reactor programm ? (Answer in 250 words)
15

A 3)
‘Climate change’ is a global problem. Hpw la will be affected by climate change ?. How
Himalayan and coastal states of India be affected by climate change ? (Answer in 250
words) ‘ 15

fem=r 2004 Y AT WA L A M e | R e T B L B e
Rl UK TG G quT & UG 9 IEh WHET TR == BN | T EL T &
YR e TR F SR SOaH 1S9 a6 Qg
& fomafafer = (ST 250 v=a1 # )

On December 20 i brought havoc on fourteen countries including India. Discuss the
factors responsible fomoccurrence of tsunami and its effects on life and economy. In the light
of guidelines of NDMA (2010) describe the mechanisms for preparedness to reduce the risk
during such events. (Answer in 250 words) ' 15

ARa H Wiz fear us TR w3k =Heedn qHen & &9 § I @ B | SUERh SEely oy
B, 3 WSR & feen & @ron g it @ s Fifg | (SR 250 w7 §)

Mob violence is emerging as a serious law and order problem in India. By giving suitable
examples, analyze the causes and consequences of such violence. (Answer in 250 words) 15

AT ht weTadt e ween & ford we iR g ® | 36 S gy e frmm
FA F o T F-F0 T A © ? AR MR S oW '@ F=mn g 7 (I 250 e
7 3

The scourge of terrorism is a grave challenge to national security. What solutions do you

suggest to curb this growing menace ? What are the major sources of terrorist funding ?
(Answer in 250 words) 15




